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ERRATUM

FREDERIC L. ELDRIDGE, JAMES P. KILEY AND DAVID PAYDARFAR
Journal of Physiology 385 (1987)

Page 638, equation (1), should read:

F(t)
[G1/rLG e-t/Ts] + l/Tr LGf A100e]

ERRATUM

F. CERVERO AND J. E. H. TATTERSALL
Journal of Physiology 388 (1987)

The article details on page 383 should read:

J. Physiol. (1987), 388, pp. 383-395

ERRATUM

A. WATANABE
Journal of Physiology 389 (1987)

Page 251, Appendix, equations (24) and (25) should read:

x =-(a sin 2f)/3+ 2k sin 2p + sin2 /3 sin 4p+ (2o sin2 / cos 2p)//,, (24)

Ry = (a sin 2/3)/fl-2k sin 2p- sin2 /3 sin 4p + (2o- sing2/ cos 2p)/j3. (25)


